W75 =hJLT—24 / Technical Datall

#E{tILY / Recommended torque: 0.3N*m ~ 0.6N*m

FIE / Product Number

AUX - - A

D~F%

D dimension

FILIRE

Aluminium feet

HF %

H dimension

W=t %k

W dimension

EXP/H)

Screw (P or H)

S HE R{L#% / Original trapezoidal head screw specification

@ b | O >

it

Color Type

FERLINZ / Components

No. % %5 / Part name = / Pcs #E / Material - RmEWLE / Color-Finish
’ a—F—7Javy A TILEHE AL Fv X ADC12 DIN—  Tovy -k
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) 4R 4 TILSIRHH A A6063S-T5 DIWN—  TZYT- T
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
3 H— : 7JLZHR A1100P DIWIR—, TT9Y-TILIAh
Top cover Aluminium A1100P Silver , Black* Anodized
4 Thi— : 7ILZHR A1100P DIN—  TZ9T- Tk
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 FILZE A VIR == PN DIWIN— , TZ9T-TINIA & TT9Y
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
6 ER{FE X (ILM3 x 8) " % = LAvE
Screw (Flat head M3 - 8) Steel Nickel plated
7 H{TE R (E#M3 x 5) 16 % ZwTLAYE | ZfiE/nA—k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 BAER (N4 KM4 x 8) 4 &% =fiE/aA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

AHESLUTE T BRROEFE RS IHF B T E(RMBLET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

| P] 7S X / Phillips | H 75F / Hexagon—socket
f8{L#k / Color Type
i85 / Code | a—4—7J0Ov% / Corner block {81#R / Frame $178— / Top cover TFH/3— / Bottom cover TILERE / Aluminium feet
S S < JLsN— / Silver < JLsN— / Silver 2 JLsN— / Silver < JLsN— / Silver < )LsN— / Silver
S B J5wv% / Black < )L73— / Silver < )LsS— / Silver < JLsN— / Silver < JL73— / Silver
B X 75v% / Black 75v% / Black < JLsN— / Silver 2 JLsS— / Silver 2 JLsR— / Silver
B B 7594 / Black 7594 / Black 7594 / Black 7594 / Black 7594 / Black

mn/Title
N EE N
TAKACHI| #RSHANFERT S F LA a— LRSI R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
AR/ Approved 1% X]/Checked #[X]/Created FI & /Product number RE/Scale
AUX88-43-43AC1-01 01 -
iR S ES2 5] N /Page

1ERK B /Date 2023/01/17 1/ 6




423

A-A(1:7)

=]

66

D view

ﬂ;

I—

B view

E view

430+ 0.8

A view

88+0.3

105

81

430+0.38

A —

\J

B-B(1:7)

423

C view

383

F view

C-C(1:7)

383

—
_

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

S/ Title
FZILIavkO—)LiRyH R
ALUMINIUM CONTROL BOX

o]

£8/Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

AUX88-43-43A0-000

RE/Scale
1:7

YERLH/Date 2022/07/27

~R—/Page

2 /6




A {84k / A Frame

5 2-M3AHSR
2-M3 Countersunk

¥ R*IEHE4E / Same on the other side.

380 22.5

™

s

™

~ ~
o

: I
I

o™

XM / Front side %M / Back side
B {84k / B Frame
e
R / Front side 221 / Back side
Mm%/ Title
TAKACHI) #XaitahFElTE B O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #&[X/Checked X /Created FIF /Product number RIE/Scale
H88 - W430 _ 13
iR E3 (320 R—/Page
1ERLH /Date 2022/07/25 3/ 6




C fAl#x / C Frame

5 2-M3AHSR
2-M3 Countersunk

¥ R*IEHE4E / Same on the other side.

380 22.5

™

s

™

~ ~
o

: I
I

o™

XM / Front side %M / Back side
D {84k / D Frame
e
R / Front side 221 / Back side
Mm%/ Title
TAKACHI) #XaitahFElTE B O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #&[X/Checked X /Created FIF /Product number RIE/Scale
H88 — D430 _ 13
iR E3 (320 R—/Page
1ERLH /Date 2022/07/25 4 /6




4-R14.7
s 38
; <

R / Front side

419.4

400

B#F3% / Max dim. 383+ 0.5

8-@4.5

<Ti% / Max dim. 383+ 0.5

2

|

2
/s N
RE—MA
Surface protective film side
& &
ZEME / Back side
R4/ Title
TAKACHI] #AEHSNFEMTE Hi— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W430 - D430 _
EP*E X 5]”*‘1‘ ~N—/Page
{ER B /Date 2022/07/26 5/ 6




4-R14.7
< o 0«
3% 5

M@ / Front side

4194
400

371.4

E#h~Ti% / Max dim. 383+ 0.5

8-@45

B3h~Ti% / Max dim. 383+ 0.5

4-M4

REEL— A

Surface protective film side

2@ / Back side

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
Th—

Bottom cover

o]

738 /Approved

iR

%[/ Checked

T

#[/Created

A

24 /Product number

W430 - D430

RE/Scale
1:4

YERL B /Date 2022/07/26

~R—/Page

6 / 6




	AUX88-43-43A
	ｼｰﾄ2_AUX88-43-43A
	AUS_W430
	AUS_D430
	AUT430-430
	AUB430-430



